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[B] One metre eighty .
[C] One metre seventv-eight.

6. Vﬂlat time 1s it now?

7. What have learned about Maria?
[A] She likes to talk on the phone with
her friends.
[B] Her friends don’t call her verv of-

ten.

[C] She doesn’t like to talk on the

phone.

8. Where is the man now"”
[A] In bed.
LB] In a friend’s home.
1C] In a hotel.

9. What does the woman mean?
[A] She knows her way around the city.
[B] She'd like 10 join them,
[C] The ride will take a day.

10 . Who won't attend the meeting?
[A] David.
(B] Mary and Bob.
[C] Three of them.
11. What can we learn about the Students’ .

Centre”
[A] It probably provides a campus map.
[B] It also has a map of the city.

[CJ It is in the centre of the university.

12. What does the man mean?

[ A He hasn’t been chosen.
[B! He is not told about it.
[ C! He

names.

doesn’t know the personsy

. When will the man leave?
[A] A week from now.
1 [B] He hasn’t decided vet.
! . C] In 5 days.
14, What time did the man arrive at Jack'~

school?
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15. What does the man suggest”’

[A] Buying the bed.

[ B] Joining the other people.

[ C] Finding more people to help.

16. Where does this dialogue probubly take

| place?

LA} At the theatre.
[B] In a restaurant.
[C] At a hospital.
17. What is the probable relationship be-
tween them?
[A] Boss and helper.
{B] Father and daughter.
{ C] Teacher and student .
18. What does the man mean”
[ A] Joe's car is in very good condition.
[B] Joe’s willing to lend them the car.

| C1 Joe will take them if he can.
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1. What does the woman want to do?
[A] She wants to stop eating.
[B] She wants to have some more.

[C] She wants to leave.

2. Whose pen is it on the left?
[A] It’s Mike’s.
[B] It’s the woman’s.
[C] It’s the man’s.

3. What do we know about the dinner?

[A] Jim ordered the food.
(B} Jim will pay the bill.
[C] George and Jim will pay the bill.

4. What does the man mean?
[A] He likes beef best.
[B] He likes chicken best.
[C] Chicken is served next to beef.

5. How tall is the man?
[A] One metre eighty-two.
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1. What are they talking about?

A. A boy and a nice girl.

B. A famous scientist.

C. The theory of relativity.

2. What do you think of Einstein’s explanation?
A. Unreasonable.
B. Humorous.

C. Direct.

(Z) WE_BHE, BF3 48
3. What are they talking about?

A. The Taylors.

B. Everything of any value.

C. A stealing case.

4. What is the meaning of “Cleaned them out” in this dialogue”’
A. Washed the floors.
B. Cleaned up the house.
C. Took everything of any value.

(=) FE=HKNE, E%5.6. 78
5. Where did Mr Smith see Ted’s new car?
A. On the way to a shop.
B. In Ted’s house.
C. In Smith’s house.

6. Why did Ted and Grace invite their friends to their house?
A. They wanted them to see their new car.
B. They wanted to see the children.

C. They wanted to show them the movies which had been taken when they visited China.

7. Who will stay home?

A. Ted and Grace.



19.
dress?
[A] $11.
(Bl $22.
[cl $33.

Where’s the woman?
[A] At a chemist’s.
[B] At a shop.

[C] At a tailor’s.

20.

21, What does the woman mean”
[A] No one can solve the problem.
[B] Everybody can do it.
[C] Fred can do it.
22 . Which of the following is right”
[A] The bus has broken down and will
not arrive.
[B] The bus was in a terrible acci-
dent.
[C] The bus will probably arrive at 9:
15.

23. What do we leam about the man?
[ Al He wants the woman to call a
doctor.
[B] He wants to be sent to the hospi-
tal .
[C] He wants to have his meal in his

room.

24 How much does one pair of sports shoe
cost”

[A] $38.50.

How much did the woran spend on each

| [B] $38.15.
(Ccl] $70.

| 25 What's the probable relationship between
the two speakers?

[ A] Student-student.

[B] Teacher-student.

[ C] Boss-worker.

. 26 . Where are they lalking?
| [A] At a library.
| {B] In a cinema.

[C] At a school.

27. Will the man buy some food”

[A] Yes, because the woman agrees.

[B]

No, because there’s no time to

buy it.

—
]
[

No, because he hasn’t got am

money to buy it.

28. What nationality is Susan?
[ A} English.
[B] Geman.

[C] French.

29. How many people were injured”
| (Al 7.
| [B] 25.

(cls.

30. What does the woman say about Steven”
[A] She’s happy to hear it.
[B] Steven is told to cheer up.

[C] Steven is very pleased.
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B. Nancy.
C. Rose.

What news are the two girls listening o over the radio?

A. BSports news.
B. News.
C. Weather report.

When did they listen to the radio?

A. 6:30.
B. 7:30.
C. 7:00.

. What’s the weather going to belike like on Friday?

A. It’s going to be cold.
B. It's going to ramn.

C. It’s going to be cold and it’s going to snow.

Will the weather be good for skating?
A. Yes, it is.

B. No, it isnt.

C. Maybe.

() WELEMNE, BEE 19, 20, 218

19.

20.

21.

Who did Rocky go to the concert with last night?
A. His friends.

B. His children.

C. His parents.

What was the concert held for?
A. To coliect money for poor children at home and abroad.
B. To show the singers’ love to the children.

C. To sing some good songs for children.

What is the girl’s opinion®
A. It is more important for all governments to do something.
B. Not only the singers, but all people should do something.

C. It isn’t necessary to hold such a concert.
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B. Smiths’ children.
C. Mrs Smith.

) FENBRAS, BE8, 9&F
Which two words did Sara tell He Ping to pronounce?
A. Tractor and explain.
B. Travel and explain.

C. Twelve and clean.

Which of the three is true according to the dialogue?
A. Sara told He Ping the meaning of *clearly’.
B. Sara told He Ping how to pronounce ‘clear”.

C. He Ping didn’t know how to spell the word ‘clear.

What were the family going to do?
A. To work on a farm.
B. To spend their holidays.

C. To buy a new car.

How did they go to the station?”

A. By car.
B. By train.
C. By bus

. When were they going to get o the station?

A. Before 11:40.
B. Before 11:00.
C. At 11:10.

What did Mrs Smith do the night before?
A. She got everything ready for their trip.

B. She moved all their elocks and watches 20 minutes ahead.

C. She got the car ready.

Who often plays sports?
A. Nancy and Rose

12, 13 &



29. What was Xiao Wang doing then?
A. He was reading.
B. He was writing.

C. He was cooking.

30. How old was Martin Luther King when he won the Nobel Peace Prize?
A. Fifty-five
B. Forty-five
C. Thirty-five

(+—) WE+—RAE, @E31, 32, 3@
31. What do you know about the shop?

A. It sells women’s clothes only.

B. It sells things for men only.

C. It sells things for dogs only.

32. What is the woman doing in the shop?
A. She is buying a coat for herself.
B. She is buying a coat for her dog.

C. She is choosing a present for her son.

33. Which of the following must be true?
A. The woman’s dog has never been to the shop.
B. There aren’t any coats in her dog’s size.

C. The woman wants to give her dog a surprise.

(+Z) WHEF+—BRAE, E% 34, 35. 36&
34. What does Mrs Green want to buy?

A. a winter coat and some books

B. a sweater and some shoes

C. a winter coat and some boots

35. Where is the bus stop?
A. outside of the gate of the hotel
B. near the hotel

C. down the main street near the hotel

.10.



() WENRKE, BE 22, 23, 24 &

22. What is the problem with the customer’s sweater?
A. The sweater lost colour.
B. The sweater became smaller.

C. The sweater became bigger.

23. What does the customer want to do first”
A. To buy another one.
B. To talk with the manager of the shop.
C. To get his money back.

24. What does the assistant do to solve the problem?
A. She asks the manager for help.
B. She decides to write to the factory.

C. She lets the customer choose another one.

(h) WEABRNE, B 25, 26, 27 &
25. Where does the talk most likely happen”
A. At home.
B. At the railway station.
C. At a bus stop.

26. Where has John been?
A. He’s been to the station.
B. He went to buy tickets.
C. He went shopping.

27. What’s wrong with John?
A. His foot is hurt.
B. His leg is hurt.
C. He loses his ticket.

(+) HE+RRIE, EE28, 20, 30&
28. When did Xiao Li come back?

A. in the evening

B. at five p.m.

C. five minutes before Xiao Wang noticed



(+&) WE+ERAE, EE 43, 44, 45, 46, 4784
43. One day Mrs Brown asked Alice to come and have supper, why?

Because Alice was her

A. good friend
B. sister
C. daughter

44. When did Mr. Brown get home that evening?

He got home at .

A. 6:40
B. 5:40
C. 5:30

45. What did Mrs Brown say to her husband?
She said that she .
A. had forgotten to buy vegetable
B. had made a mistake
C. had forgotten to call him

46. How long hadn’t they seen each other?
They hadn’t seen each other for .
A. aday
B. ten hours

C. a long time

47. Where was the meat?
It was ____ for 3 days.
A. in the car
B. in the house
C. in the fridge

(+X) WE+HABRAE, EF 48, 49, 50. 51 &
48 . What does Mary’s father grow on the farm?
A. He grows cabbages, tomatoes, and other things like that, and he grows more rice than veg-
etables.
B. He grows potatoes, cabbages, and other things like that, and he grows more wheat than
rice.

C. He grows potatoes, cabbages, and other things like that, and he grows more wheat than
c 12 .



36. Which bus should Mrs Green take?
A. any buses
B. bus No 143
C. the bus which is marked with “143 State Street”

(+Z) BE+ZRHE, @% 37, 38, 39&
37. How many times has John met Bob?

A. Several times.

B. Twice.

C. For the first time.

38. Which of the following might be true?
A. The plane didn’t arrive at the airport on time.
B. John Brown is a manager of a company.

C. Bob is the driver of a companay.

39. How did Bob come to the airport?

A. By bus.
B. By air.
C. By car.

(+m) KWE+MBEME, EEFH0. 4. 28
40. What is Jack reading?

A. A magazine.

B. A newspaper.

C. A Chinese play.

41. Where are they going at the weekend?
A. To Beijing Opera Theatre.
B. To Beihai Cinema.
C. To Beihai Park.

42. What're they going there for?
A. To learn Beijing Opera.
B. To see Beijing Opera.

C. For a visit.

« 11 -






vegetables .

49. When was the old-fashioned house built?
A. More than 300 years ago.
B. About 300 years ago.
C. About 100 years ago.

50. When did Mary’s parents move into the house?

A. In 1938.
B. In 1948.
C. In 1928.

S1. Which of the following is the right order in which Mary shows Micheal around the farm?
a. Going for a ride. :
b. Seeing the cows.
¢. Having something to eat.
d. Seeing everything in the house.
Talking about the crops.
A. a—b-c—d-e B. e~b-c-d-a C. e—d-b-c-a

a4

(++) WE+LBEAS, B% 52, 53, 54, 558
52. What does Mr. Harrison want to book?

A. Tickets for a film.

B. Tickets for a short play.

C. Tickets for an opera.

53. Mr. Harrison wants to have the tickets for

A. the evening show
B. the moming show

C. the afternoon show

54. How much does Mr. Harrison pay for his tickets?

A. £4.00.
B. £6.00.
C. £10.00.

55. When is Mr. Harrison asked to pick up the tickets?
A. Next Monday.



B. Next Wednesday.
C. Next Sunday.

(+\) WE+NERE, BI%E 66, 57, 58, 598
56. Early every moming the speaker had to

A. clean the bathroom

B. feed the chickens

C. help his sister get dressed

57. The speaker and his sister did not go to school by bus because .
A. their parents thought walking was good for them
B. the school was quite near

C. they were too poor to afford it

58. On Sundays the speaker used to .
A. play in the street
B. go to church three times

C. go shopping with his parents

59. We can infer from the speech that the speaker .
A. lives on a farm
B. wishes he were young again

C. thinks children were happier in the past

(+h) WE+ABENE, % 60. 61, 62, 63, 648
60. How old was the boy?

He was at that time.
A. seven
B. eleven

C. seventeen

61. What did the boy want to be?
He wanted tobe a .
A. train driver

B. fine doctor
C. good farmer

62. The boy couldn’t go to school, Why?
. 14 .



